DRAWING SET INDEX

i | e e
- o5 e CHELAN BAY
2 OF SITE PLAN
3 OF FLOAT RANGE OF MOTION
4 OF ATTENUATOR FLOAT 1 DETAIL C O M M E R C I A L D O C |<
5 OF ATTENUATOR FLOAT 2 DETAIL
6 OF 8'x40' HEADWALK FLOAT 1 DETAIL
7 OF 8'x40' HEADWALK FLOAT 2 DETAIL
8 OF 8'x40' HEADWALK FLOAT 3 DETAIL C H E I__ A N W A
9 OF 8'x20' GANGWAY FLOAT DETAIL |
10 OF 4/x28' FINGER FLOAT DETAIL
11 OF ORCA CONNECTION DETAIL
12 OF MAINWALK CONNECTION DETAIL -|_ R I p E N I N C
13 OF PILE HOOP DETAILS
14 OF FIXED PIER DETAILS .
15 OF FIXED PIER ABUTMENT p r‘ O e C T #
16 OF FIXED PIER TRANSITION RAMP J
17 OF PILE DETAILS
CONTRACT DRAWING SET

TRANSPAC MARINAS

SHQYEESETIEE-E. MGHS[JENEIEIP':LIYgFﬁrll;iEOP’?!’ESEHDPE) SHALL BE GRADE 4710, & CONFORM TO ASTM p P OJ e C T # 2 2 3 6

D3350. THE PIPE SHALL BE STANDARD DIMENSION RATIO (SDR] 2.5 OR AS OTHERWISE NOTED ON
THE PLANS.

FOAM BILLETS: SHALL BE VACUUM-MOLDED, RIGID CELLULAR EXPANDED POLYSTYRENE, 1.0 LB. PER
CU. FT. NOMINAL DENSITY, MEETING THE REQUIREMENTS OF ASTM SPECIFICATION C-578-85, TYPE 1
MATERIAL FOR DENSITY, COMPRESSIVE AND FLEXURAL STRENGTH, WATER VAPOR PERMEABILITY, u n e |

WATER ABSORPTION AND DIMENSION. REGROUND OR REPROCESSED MATERIALS OF UP TO 10X%.

DECKING: FIBERGRATE MOLDED MICRO-MESH GRATED DECKING WITH 3/4"x3/4" GRID PATTERN, AND 1
1/2" DEPTH, CONFORMING TO ADA REQUIREMENTS.

PILES: 12" std STEEL PIPE, A252 GR 3, MIN Fy = 50 KSI. CUTOFF = EL 1106, MIN 27 FT EMBED

STEEL: ALL FRAMING ANGLES, PLATES, AND OTHER STEEL SHAPES SHALL CONFORM TO ASTM A36.
WIDE FLANGE BEAMS SHALL BE A992, PIPES SHALL BE AS53B.

BOLTS: MINIMUM BOLT DIAMETER SHALL BE 3/4" FOR ALL FRAME CONNECTIONS. BOLTS SHALL MEET
ASTM SPECIFICATION A-307, GRADE A, AND BE HOT-DIP GALVANIZED, PER ASTM A-153. STAINLESS
HARDWARE SHALL BE TYPE 316.

GALVANIZING: FRAME FOR FLOAT FRAMES SHALL BE HOT DIP GALVANIZED. ALL MISCELLANEOUS DESIGN SPECIFICATIONS:
STEEL HARDWARE SHALL BE HOT DIP GALVANIZED IN ACCORDANCE WITH ASTM A 123 AND ASTM A WIND: 62 MPH, > SECOND GUST

153, ITEMS REQUIRING FABRICATION SHALL BE GALVANIZED AFTER FABRICATION TO A MINIMUM OF

2.0 0Z./SQ.FT WAVE: SIGNIFICANT WAVE 1.8FT, 2.2 SECOND PERIOD
WELDING: WELDERS SHALL BE QUALIFIED AS SPECIFIED IN AWS FOR THE PARTICULAR PROCESS CURRENT: ONE KNOT

AND PROCEDURE THAT THE WELDER WILL PERFORM. PROCEDURE QUALIFICATION TEST RECORDS FOR

THE MATERIAL AND PROCEDURE PERFORMED WILL BE REQUIRED IN ACCORDANCE WITH AWS D11, BOAT: 28 & 30' BOATS - TRANSIENT MOORAGE ONLY
UHMW-PE: ULTRA HIGH MOLECULAR WEIGHT POLYETHYLENE SHALL BE FABRICATED FROM POLYMER LIVE LOAD: 25 PSF

INDUSTRIES, POLYSLICK BR, REPROCESSED WITH A TENSILE STRENGTH OF 3300 PSI MIN PER ASTM

D638,

FLOAT DRUMS: ROTATIONALLY-MOLDED POLYETHYLENE, WITH MINIMUM WALL THICKNESS OF O0.15".
FOAM CORE 1S CELLULAR POLYSTYRENE, 1.0 LB PER CF PER ASTM C-578-85.

Not For Distribution

DRAWING

~OR SUBMITTAL 6/235/2022

CONFIDENTIAL.: REV | BY | DATE DESCRIPTION

THESE DRAWINGS AND DETAILS FURNISHED WITH THIS PROPOSAL
ARE PROPRIETARY TO TRANSPAC MARINAS, INC. THEY ARE
INTENDED FOR REVIEW PURPOSES ONLY BY THOSE WITH STRICTLY
DEFINED FIDUCIARY RESPONSIBILITIES OF THE PROJECT OWNER AND
O OWNERS REPRESENTATIVE. UNDER NO CIRCUMSTANCES MAY THE
CONTENTS OF THESE DRAWINGS BE COPIED OR TRANSMITTED TO

CHELAN BAY
COMMERCIAL DOCK, CHELAN, WA

COVER SHEET

RANSPAC

p (360) 770-1746

THIRD PARTIES WITHOUT THE EXPRESS WRITTEN APPROVAL OF £(360) 766-6013
TRANSPAC MARINAS, INC. allen@ajdengineeringcom |[M A R I N A S
P.0. BOX 1169 DATE: JOB NO. SHEET. OF  |REVISED:
ANACORTES JUN 2022 2236 1 . -
THIS DRAWING IS THE PROPERTY OF AND CONTAINS INFORMATION WHICH BELONGS TO TRANSPAC MARINAS, INC. IT IS BEING LOANED WASHINGTON
WITH THE UNDERSTANDING THAT IT MAY NOT BE REPRODUCED OR USED IN ANY WAY THAT WOULD BE INJURIOUS TO TRANSPAC'S US.A. 98221 DRAWN BY: CHECKED BY: APPROVED BY:

INTERESTS. DETAILS MAY BE PROTECTED UNDER ONE OR MORE OF THE FOLLOWING U.S. PATENTS: 4,709,647 —4,887,654 —4,940,021

—5,347,948 —5,529,012 —6,450,737 —7,390,141 —8,136,468 —8,287,208 —8,308,397 —8,317,429 —8,506,205 [360) 293-8888 AJD AJD DJJ




Not For Distribution

DRAWING

25-gn

8' WIDE ATTENUATOR FLOAT

+

{5) 12" STEEL PILE

8-on

p (360) 770-1746
£ (360) 766-6013

RANSPAC

FLOAT LAYOUT
SITE PLAN

5
J
T
4' WIDE X 28' FINGER 3?
+
i =
CAST IN PLACE | T
CONCRETE ABUTMENT | | 4+
51x60! GANGWM\ - -
&
o e
{ QS)
[~ TRANSITION o A?“
| | (5) 12" PILE %
8xd4! FIXED | \/s/
PIER 8 WIDE HEADWALK . o
O FOR SUBMITTAL 6/23/2022
S /«.2,5/ Rev | By | DATE DESCRIPTION P — CHELAN BAY
A / Sace— COMMERCIAL DOCK, CHELAN, WA

O

THIS DRAWING IS THE PROPERTY OF AND CONTAINS INFORMATION WHICH BELONGS TO TRANSPAC MARINAS, INC. IT IS BEING LOANED
WITH THE UNDERSTANDING THAT IT MAY NOT BE REPRODUCED OR USED IN ANY WAY THAT WOULD BE INJURIOUS TO TRANSPAC'S
INTERESTS. DETAILS MAY BE PROTECTED UNDER ONE OR MORE OF THE FOLLOWING U.S. PATENTS: 4,709,647 —4,887,654 —4,940,021
—5,347,948 —5,529,012 —6,450,737 —7,390,141 —8,136,468 —8,287,208 —8,308,397 —8,317,429 —8,506,205

allen@ajdengineering.com

M A RINAS
P.0. BOX 1169 DATE: JOB NO. SHEET. OF  |REVISED:
ANACORTES a
WASHINGTON JUNE 2022 2236 2
USA. 98221 DRAWN BY: CHECKED BY: APPROVED BY:
|260) 292-8888 AJD AJD DJJ



Not For Distribution

DRAWING

NEW PIPE PILE SUPPORTED

8x34' FIXED PIER

SEE SHT 14 /_/
L— 5'x60' GANGWAY
DECK EL 1102
1)
1 |_— TRANSITION
: ]
)
28'-4 o
341-00
o PILING CUT OFF AT
1106 ELEVATION
S PROPOSED
= S TRANSITION FIXED PIER II:_II__O;\JLETPRéIgf
© SEE SHT 16
-~ EL 1102 N PROPOSED 5'x60' ALUMINUM GANGWAY WATER, EL 1100
PROPOSED s / s . - —
o | NAANINLNINININININININLN
\ AN ,
| P P | S E—— ——— e - - — m—r - = - =
5 v HIGH POOL 8 - T HHH%*WHH“H T =
=~ EL 1100 I n g " g S\ 1 I N A o I o= (11 \J &2 T [ 11
|_|—— EXISTING L3
/ RIPRAP SLOPE
EXISTING k
CONCRETE T
ABUTMENT GROUND
SEE SHT 15 E
e I 1 Tt —
FIXED PIER ELEVATION 1 O - —
LOOKING EAST EL 1088
EXISTING GROUND
LINE
TRANSITION
SECURED
L L] L] 12" STEEL PIPE PILES L]
EL 1102
~ ELEVATION LOOKING NORTH
| ey gy s ———————
EXISTING
RIPRAP SLOPE
EXISTING
CONCRETE
GROUND
ABUTMENT EL 1088
FIXED PIER ELEVATION
LOOKING EAST
REV | BY | DATE DESCRIPTION

p (360) 770-1746

f(360) 766-6013

allen@ajdengineering.com

INTERESTS.

—5,347,948 —5,529,012 —6,450,

THIS DRAWING IS THE PROPERTY OF AND CONTAINS INFORMATION WHICH BELONGS TO TRANSPAC MARINAS, INC.
WITH THE UNDERSTANDING THAT IT MAY NOT BE REPRODUCED OR USED IN ANY WAY THAT WOULD BE INJURIOUS TO TRANSPAC'S
DETAILS MAY BE PROTECTED UNDER ONE OR MORE OF THE FOLLOWING U.S. PATENTS: 4,709,647 —4,887,654 —4,940,021

737 7,390,141 —8,136,468 —8,287,208 8,308,397 —8,317,429 —8,506,205

IT IS BEING LOANED

TRANSPAC

M ARINAS

CHELAN BAY

COMMERCIAL DOCK, CHELAN, WA

FLOAT RANGE OF
MOTION

P.0. BOX 1169
ANACORTES
WASHINGTON

US.A, 98221
[360) 293-8888

DATE: JOB N, SHEET: OF  |REVISED:

JUNE 2022 2256 5

DRAWN BY: CHECKED BY: APPROVED BY:
AJD AJD DJJ



500

126" 250" 126
" 1 HES12x4x1/4
HSS4x2x1/4, TYP 152EE NsTHE1B %L FILE HooP 24" HDPE PIPE MAIN MEMBER, TYP
’ TYP OF 2 FOAM FILLED WITH
FUSED END CAPS ™ A
T = 3 |

p

o g
L

| | ey ) %

8l-ot

A
A

| \

| \

— :

| HES4x2x1/4
lﬁ | | A |

| |

| |

|

|

}

HSS6x3x1/4 ‘

CROSS MEMBER, TYP \ ‘
|

|

|

[== =) crEsars) N \ == =} | \
— g s | s |y \ - — A ORCA FLOAT
ORCA CONNECTION DECKING CONNECTION
SEE SHT 1t PLAN CABLE TRAY SEE SHT 11

HSS12x4x%1/4
) ) (el [

ELEC CABLE
ROUTING

ELEVATION

24" HDPE PIPE

FOAM FILLED WITH ATTENUATOR FLOAT

FUSED END CAPS

8-on

HSS4x2x1/4
12" HEAVY FRP GRATED DECKING
DOCK CLEAT CABLE TRAY
UTILITIES BY
OTHERS @
n

Not For Distribution

DRAWING

I TL 4 11 1/21 BOLTS @ 24! OC
g i 0 | I U fleoe] . For ‘Rub TRIP
2 -~
= H
g 1w [ 5 . NOTES:
B — ™ (2) 2x8 HDPE RUBSTRIPS FREEBOARD: 16"
I PILE HOOP TOTAL FLOAT WEIGHT: 11,400 LBS
H H LIVE LOAD CAPACITY: 25 PSF
MATERIAL: A6 STEEL SHAPES, A500B TUBES
r O e T HES12x4x1/4 COATING: HOT DIP GALVANIZE AFTER FABRICATION
HS5S6x3x1/4@ 10' +/- OC
241 HOPE pIPE FOR SUBMITTAL ©/235/2022
FOAM FILLED, WITH FUSED END CAPS
A - A REV | BY | DATE DESCRIPTION CH EI_AN BAY
COMMERCIAL DOCK, CHELAN, WA
B B ATTENUATOR FLOAT 1
e | TRANSPAC
allen@zgidengineerinécom M A RINAS D ETAI I__
P.0. BOX 1169 DATE: 0B NO. HEET. OF |REVISED:
ANACORTES JUNE 2022 | 2236 AR
THIS DRAWING IS THE PROPERTY OF AND CONTAINS INFORMATION WHICH BELONGS TO TRANSPAC MARINAS, INC. IT IS BEING LOANED WASHINGTON
LR TS DL R o U R A T S R BTy Ush segp  [oamer crecKED o7 RePROVED oY
—5,347,948 —5,529,012 6,450,737 —7,390,141 —8,136,468 —8,287,208 —8,308,397 —8,317,429 —8,506,205 . |260) 292-8888 AJD AJD DJJ




50'-0t

5I_°Il 2°I_°Il 20!_0" 5I_°Il
HSS12x4x1/4
HSS4x2x1/4 g;EINJHETF,\‘IIQL PILE HOOP lig;HDIEIELLPEISEWITH MAIN MEMBER, TYP
[ TvP TYP OF 3 X FUSED END CAPS ,—» A
L () () () |
| » » \_ |

4

N | I | R

b/ 7 = e X

H884x2x1/4

8-o"

= e \ - 4% ==
/ HSS6x3x1/4 \ FRP GRATED A 64# BALLAST TO OFFSET

ORCA FLOAT CROSS MEMBER, TYP PLAN DECKING PILE HOOP

CONNECTION CABLE TRAY TYP EA PILE HOOP
12" HEAVY DOCK CLEAT HSS12x4x1/4
Qg ?NBH?/ el _

TGV IVIVIV ISV SRR s

24" HDPE PIPE

FOAM FILLED WITH ELEVATION

FUSED END CAPS

YR or e ATTENUATOR FLOAT
BI_OII

HSS4x2x1/4
12" HEAVY FRP GRATED DECKING
DOCK CLEAT CABLE TRAY
UTILITIES BY
OTHERS g-
1 3 i ml

i M 7. 1] 1/21 BOLTS @ 24" OC
i — L U U g FOR RUB STRIP
|2 E -~ jiiifj
= |
© ‘ S Z = \ .
& = | 2 (2) 2x8 HDPE RUBSTRIPS NOTES:
; I PILE HOOP FREEBOARD: 16"
TOTAL FLOAT WEIGHT: 12,000 LBS
I [ LIVE LOAD CAPACITY: 25 PSF
| I T I | HSS12x4x1/4 MATERIAL: A36 STEEL SHAPES, A500B TUBES

COATING: HOT DIP GALVANIZE AFTER FABRICATION
HSS6x3x1/4@ 10' +/- OC

Not For Distribution

DRAWING

24" HDPE PIPE f: R B l_ / /
FOAM FILLED, WITH FUSED END CAPS O 5 U M I TTA 6 2 5 2 O 2 2
A - A REV | BY | DATE DESCRIPTION CH EI_.AN BAY
COMMERCIAL DOCK, CHELAN, WA
s e | ATTENUATOR FLOAT 2
£(360) 766-6013 | ER/ARNJIZAR, D ETAI I_
allen@ajdengineeringcom |[M A R I N A S
P.0. BOX 1169 DATE: JOB NO. SHEET: OF  |REVISED:
ANACORTES JUNE 2022 2236 5 A -
THIS DRAWING IS THE PROPERTY OF AND CONTAINS INFORMATION WHICH BELONGS TO TRANSPAC MARINAS, INC. IT IS BEING LOANED WASHINGTON
WITH THE UNDERSTANDING THAT IT MAY NOT BE REPRODUCED OR USED IN ANY WAY THAT WOULD. BE \NJUR\OU} TO TRANSE’AC’S U.s.A. 98221 DRAWN BY: CHECKED BY: APPROVED BY:
47,948 5,970,013~ 450757 - 700041 ~B130460 8,087,008 BI0RI0T B.A1TATS -BECbIGE | ooIo04 T4940.02 [360) 293-8888 AJD AJD DJJ




Not For Distribution

DRAWING

391"
EB 1/4x3x7 - o MAINWALK
XX
TYP OF 2, FLUSH HES8xIx1/4 181 HDPE PIPE HSS4x2x3/16 FRP GRATED DECKING SONNECTION
W/ TOP AND GROUNDING FLOAT, @ 48" OC
BOTTOM FLANGE FOAM FILLED HSS2x2x1/4 B 2 1/2'x8 1/2" OPENING FOR UTILITIES
A IN END MEMBER
N L ‘ Y . X - ; o = r
f 1 / \ 1 < I
i | / o |
HRe | | / | | f
5/16 / 1
T | | / / | \ i
YP >/16 | 1 / 7 /
1 B ] | ] ]
@ | | | | :
| f
| | | / | \
S A A A
| | | | | | |
| / 1
| y o {
| | f v | | 1
| 7 I
| | | i i / | | A Y
[ ] : - ) i i i i == . % r
\ 2x10 HDPE RUBSTRIP
EXTERNAL PILE Hoop A B
SEE SHT 13
TYP OF 2 FRP GRATED DECKING
3l-g! 4-0! 12'-g0 4'-on 2'-8t 11/2" THK W/ 3/4x3/4 GRID, ADA COMPLIANT
|y
2 1/2"x8 1/2" OPENING FOR UTILITIES
/ IN END MEMBER
o o,
EHT oo e © © — 9 ® 0
489 48%%
HSS8x3x1/4
18" HDPE PIPE GROUNDING
FLOAT, FOAM FILLED
SIDE ELEVATION
ROTATIONALLY MOLDED
POLYETHYLENE FLOAT DRUM WITH 8')(40' HEADWALK FLOAT DETAIL
EPS CORE
8l-o!
9100 WATER AND ELECTRICAL 10" HEAVY DOCK CLEAT _ g-o! _ NOTES:
SERVICE BY OTHERS / 2x10 HDPE RUB STRIP - o COATING: HOT DIP GALVANIZE AFTER FABRICATION IN ACCORDANCE
— = 2X10 HDPE RUB STRIP \ WITH ASTM A 123 AND ASTM A 163. TO A MINIMUM OF 2.0
= v I = = =r 0Z./SQ.FT
() a [¢] o O O [¢] O H
I Goo 7 A — ©_ ] (od DE—— DEAD LOAD FREEBOARD: 18! +/-
. fP L N o o LIVE LOAD FREEBOARD: 2" AT 25 PSF
- E & MATERIALS:
' H ‘ SHAPES AND PLATES - A36
——— HSS - A500B
e H H BOLTS - A325, A307
HSS8x3x1/4 HSS8x3x1/4 FRAME HDPE PIPE: GRADE 4710 [PE3408] PER ASTM 03350, SDR 32.5.
AJ 777777777777 - - 7H7 FLOTATION FOAM: VACUUM-MOLDED, RIGID CELLULAR EXPANDED
HSS4%x2x%/16 POLYSTYRENE, 1.0 LB/CF
CROSS MEMBER FLOAT DRUM: ROTATIONALLY-MOLDED POLYETHYLENE, WITH MINIMUM
EXPANDED POLYSTYRENE 1" HDPE PLATE END CAP HSS2x2x1/4 WALL THICKNESS OF 0.15". FOAM CORE IS CELLULAR POLYSTYRENE
FLOAT DRUM WITH 0.5 FUTURE 1.0 LB PER CF PER ASTM C-578-85
POLYETHYLENE SHELL B = B UTILITIES
18" SDR 32.5 HDPE PIPE BY OTHERS
A = A GROUNDING FLOAT, FOAM
T FOR SUBMITTAL ©/235/2022
REV | BY | DATE DESCRIPTION C H E I_.AN BAY
— COMMERCIAL DOCK, CHELAN, WA
————— | |
= R ANPAC | 8X40' HEADWALK
P -
s | SR FLOAT 1 DETAIL
allen@ajdengineeringcom |[M A R I N A S
P.0. BOX 1169 DATE: JOB NO. SHEET. OF  |REVISED:
ANACORTES JUNE 2022 2236 6 . -
THIS DRAWING IS THE PROPERTY OF AND CONTAINS INFORMATION WHICH BELONGS TO TRANSPAC MARINAS, INC. IT IS BEING LOANED WASHINGTON
WITH THE UNDERSTANDING THAT IT MAY NOT BE REPRODUCED OR USED IN ANY WAY THAT WOULD BE_INVURIOUS TO TRANSfAc’S US.A, 98221 DRAWN BY: CHECKED BY: APPROVED BY:
7,008 U5.525,012 L6450.757 7,390,141 ~B136,465 5,287,208 E308.397 5517420 506,208 T o0 [360) 293-8888 AJD AJD DJJ




POLYSTYRENE

390111
FB 1/4x3x7 B HSS8x3x1/4
TYP OF 2, FLUSH
W/ TOP AND B MAINWALK
BOTTOM FLANGE A CONNECTION
SEE SHT 12
Iy 2 ‘ ‘ als e ‘i ,//
/ ‘ ‘ } /; I T \ 1
| | | \ |
NG | ‘ | / | | 2 1/2'x8 1/2" OPENING FOR UTILITIES
/ \ / IN END MEMBER
TYP | | / ; \ |
3/16 — T
T / | , B
| /,, | / |
| | ] ! ||
\ | | ‘ ] \ |
| \ |
| | ) ‘ | \ \
/\ | f | L
[ 4
| /
—— s . L - AN - ~LE
=1 r=—wul |
18" HDPE PIPE ——
GROUNDING FLOAT, HES4x2x3/16 A FRP GRATED DECKING v B
FOAM FILLED @ 48" OC
2x10 HDPE RUBSTRIP FRP GRATED DECKING
EXTERNAL PILE HOOP HSS2x2x1/4 1 1/2" THK W/ 3/4x3/4 GRID, ADA COMPLIANT
SEE SHT 13
TYP OF 2 PLAN 2 1/2"x8 1/2" OPENING FOR UTILITIES
IN END MEMBER
o)
fffff e flee & &= 606
489616
HSS8x3x1/4
18" HDPE PIPE GROUNDING
FLOAT, FOAM FILLED
SIDE ELEVATION
ROTATIONALLY MOLDED
POLYETHYLENE FLOAT DRUM WITH 8'x40' HEADWALK FLOAT DETAIL
EPS CORE
Bl_oll
sion WATER AND ELECTRICAL 10" HEAVY DOCK CLEAT - 8-0! - NOTES:
- - SERVICE BY OTHERS / 2x10 HDPE RUB STRIP = = COATING: HOT DIP GALVANIZE AFTER FABRICATION IN ACCORDANCE
2X10 HDPE RUB STRIP \ WITH ASTM A 123 AND ASTM A 153, TO A MINIMUM OF 2.0
= - 5 - o - = 0Z./SQFT
B Ooo 7 i o] ° O ) o) e
1 Qee T N e _1 [ od S —— DEAD LOAD FREEBOARD: 18" +/-
< - ® o o o 90 LIVE LOAD FREEBOARD: 2" AT 25 PSF
- E Tg MATERIALS:
Y I ‘ SHAPES AND PLATES - A36
SV HSS - A500B
= I l BOLTS - A325, A307
HSS8x3x1/4 HSS8x3x1/4 FRAME HDPE PIPE: GRADE 4710 (PE3408] PER ASTM 03350, SDR 32.5.
A D I I FLOTATION FOAM: VACUUM-MOLDED, RIGID CELLULAR EXPANDED
HSS4x2x3/16 POLYSTYRENE, 1.0 LB/CE
CROSS MEMBER FLOAT DRUM: ROTATIONALLY-MOLDED POLYETHYLENE, WITH MINIMUM
EXPANDED POLYSTYRENE 1 HDPE PLATE END CAP HSS2x2x1/4 WALL THICKNESS OF 015" FOAM CORE 1S CELLULAR
B - B EUTURE 1.0 LB PER CF PER ASTM C-578-85
UTILITIES
BY OTHERS

18" SDR 32.5 HDPE PIPE

FLOAT DRUM WITH 0.15
GROUNDING FLOAT, FOAM

~OR SUBMITTAL ©/23

Not For Distribution

DRAWING

/20272

POLYETHYLENE SHELL
A - A
FILLED
REV | BY | DATE DESCRIPTION C H E I__AN BAY
e COMMERCIAL DOCK, CHELAN, WA
= | |
< p (360) 770-1746 E%é§§§§%§€2 8 X4O H EADWALK
dlen@ayionsineenzcon |M A R T N A S FLOAT 2 DETAIL
P.0. BOX 1169 DATE: JOB NO. SHEET. OF  |REVISED:
IT IS BEING LOANED WAESAI'?IONRG.I:I-EOSN JUNE 2022 2256 A -
USA. 98221 DRAWN BY: CHECKED BY: APPROVED BY:
|260) 292-8888 AJD AJD DJJ

THIS DRAWING IS THE PROPERTY OF AND CONTAINS INFORMATION WHICH BELONGS TO TRANSPAC MARINAS, INC.

WITH THE UNDERSTANDING THAT IT MAY NOT BE REPRODUCED OR USED IN ANY WAY THAT WOULD BE INJURIOUS TO TRANSPAC'S

DETAILS MAY BE PROTECTED UNDER ONE OR MORE OF THE FOLLOWING U.S. PATENTS: 4,709,647 —4,887,654 —4,940,021
—8,136,468 —8,287,208 —8,308,397 —8,317,429 —8,506,205

INTERESTS.
—5,347,948 —5,529,012 —6,450,737 —7,390,141




391!
— o ORCA CONNECTION
FB 1/4x3x7 18" HDPE PIPE 2 1/2%11 1/2' OPENING GANGWAY FLOAT SEE SHT 11
TYP OF 2, FLUSH . GROUNDING FLOAT, FOR UTILITIES ]"/
W/ TOP AND FOAM FILLED
BOTTOM FLANGE TYP OF 2 B
. T . : A 2 1/2'xg" OPENING FOR UTILITIES
| ' \ — ) § ' IN END MEMBER
I L I 7 . |
1 \ j— H i
\ /A |
< | . ::
5/16 // H
TYP q | | [ /1 | I
3/16 T I
| \ | /, | \ | .
i | | . 2
| | ‘ [ R | | | |
< | | ] /,’ \ | i
I
+ | | ™ Hesaxaxog y ] | {
‘ ‘ @ 48" OC ( f A ‘ ‘ |
W V I
| | ,’ A / | | . '
! - [ I1=="== Y D — i == 1 A / — L —
\L "\
\ HSSBxOx1/4 HSS2x2x1/4 A B
MAINEWALK FRP GRATED DECKING EXTERNAL PILE HOOP
CONNECTION
SEE SHT 12 10" 2x10 HDPE RUBSTRIP 150 SEE SHT 12 FRP GRATED DECKING
—— —— 11/2" THK W/ 3/4x3/4 GRID, ADA COMPLIANT
2 1/2'x8 1/2" OPENING FOR UTILITIES
PLAN qﬂ/ 10" HEAVY DOCK CLEAT [ IN END MEMBER
W o -
***T**** | I I | -l ol I i o R B m: .
16 48 489616 m aﬂaeu W 45%12 m
HSS8x3x1/4
18" HDPE PIPE GROUNDING/
FLOAT, FOAM FILLED
SIDE ELEVATION ’
ROTATIONALLY MOLDED
POLYETHYLENE FLOAT DRUM WITH 8'x40' HEADWALK FLOAT DETAIL
EPS CORE
al-o!l
9100 WATER AND ELECTRICAL 10" HEAVY DOCK CLEAT - g-o! - NOTES:
- - SERVICE BY OTHERS / 2x10 HDPE RUB STRIP COATING: HOT DIP GALVANIZE AFTER FABRICATION IN ACCORDANCE
2X10 HDPE RUB STRIP \ WITH ASTM A 123 AND ASTM A 153, TO A MINIMUM OF 2.0
= 3 H&H I == ~ = = = = 0Z./SQFT
IE— ———S oo 1 0 — — — — — Q | L od —— — — — DEAD LOAD FREEBOARD: 18" +/-
) - ® Lo o o o LIVE LOAD FREEBOARD: 2" AT 25 PSF
E Tg MATERIALS:
Y I I SHAPES AND PLATES - A6
HSS - A500B
— [ | BOLTS - A325, A307
HSS8x3x1/4 HSS8x3x1/4 FRAME HDPE PIPE: GRADE 4710 [PE3408] PER ASTM 03350, SDR 2.5,
HE54x2x0/16 A I N FLOTATION FOAM: VACUUM-MOLDED, RIGID CELLULAR EXPANDED
cnosg ’;AEMBER POLYSTYRENE, 1.0 LB/CF
HSS2x2x1/4 FLOAT DRUM: ROTATIONALLY-MOLDED POLYETHYLENE, WITH MINIMUM
EXPANDED POLYSTYRENE 1" HDPE PLATE END CAP x2X WALL THICKNESS OF 0.15'. FOAM CORE IS CELLULAR POLYSTYRENE
B - B EUTURE 10 LB PER CF PER ASTM C-578-85
UTILITIES
BY OTHERS

FLOAT DRUM WITH 0.15
POLYETHYLENE SHELL

A-A

18" SDR 32.5 HDPE PIPE

GROUNDING FLOAT, FOAM
FILLED

~OR SUBMITTAL 6/235/2022

REV | BY | DATE DESCRIPTION

Not For Distribution

p (360) 770-1746
£ (360) 766-6013

&

. IT IS BEING LOANED

THIS DRAWING IS THE PROPERTY OF AND CONTAINS INFORMATION WHICH BELONGS TO TRANSPAC MARINAS, INC

WITH THE UNDERSTANDING THAT IT MAY NOT BE REPRODUCED OR USED IN ANY WAY THAT WOULD BE INJURIOUS TO TRANSPAC'S

DETAILS MAY BE PROTECTED UNDER ONE OR MORE OF THE FOLLOWING U.S. PATENTS: 4,709,647 —4,887,654 —4,940,021
—8,136,468 —8,287,208 —8,308,397 —8,317,429 —8,506,205

INTERESTS.
—5,347,948 —5,529,012 —6,450,737 —7,390,141

DRAWING

CHELAN BAY
COMMERCIAL DOCK, CHELAN, WA

allen@ajdengineering.com

TRANSPAC 8'x40' HEADWALK
AR IN & & FLOAT 3 DETAIL
P.0. BOX 1169 DATE: JOB NO. SHEET. OF  |REVISED:
v@g@g&g‘a JUNE 2022 2236 A -
USA. 98221 DRAWN BY: CHECKED BY: APPROVED BY:
|260) 292-8888 AJD AJD DJJ



24!-0"

FB 1/4x3x7 6"-0" 6'-0! 6'-0! 6"-0"
TYP OF 2, FLUSH — -— 2x10 HDPE RUBSTRIP
W/ TOP AND / HSS8X3x1/4
oTTO A
B M FLANGE HSS4x2x3/16 / GROUNDING FEET
e ) — TYP OF 6
>We\ aaiznaediffasiinnasiditissnanialil faseaisni I / ‘
TYP 1 u \
3/16
2| o
7 | ®
HSS2x2x1/4 / i \
- _ —— — — — — — — " — 1 —— 1 1 . - 1 i '
2x10 HDPE RUBSTRIP / \ f
HSS8x3x1/4
AROUND hooox2xi/4 FRP GRATED DECKING
HSS6x6x3/8 FOR FLOAT
TO FLOAT BOLT TYPE
CONNECTION
PLAN 2 1/2'11 1/2" OPENING FOR UTILITIES SEE SHT 12
FRP GRATED DECKING Typ 5‘,: 2
11/2" THK W/ 3/4x3/4 GRID, ADA COMPLIANT
HSS8x3x1/4 HSS8x3x1/4
/ GROUNDING FEET
P = = B
—_ — — — ¥ I 0 ) — — — Ft — — — — o — — — — [— ]
[ = [
| 1 } m H m H | m H m H (A FLOAT TO FLOAT BOLT
\ / TYPE CONNECTION
‘ ‘ L i SEE SHT 12

FB 3/8x6x10 FEET / (6] 487216 ROTATIONALLY MOLDED

SIDE ELEVATION WITH EPS CORE
GANGWAY FLOAT DETAIL

NOTES:

COATING: HOT DIP GALVANIZE AFTER FABRICATION.

Not For Distribution

DRAWING

MATERIALS:
HSS - A500B
SHAPES AND PLATES - A%6
SoTe T A FOR SUBMITTAL ©/235/2022
REV | BY | DATE DESCRIPTION CH E I_.AN BAY
COMMERCIAL DOCK, CHELAN, WA
| | |
s e el | 8x20' GANGWAY FLOAT
Raiorisson | VIANNIIZAN, DETAIL
allen@ajdengineeringcom |[M A R I N A S
P.0. BOX 1169 DATE: JOB NO. SHEET. OF  |REVISED:
ANACORTES JUNE 2022 2236 9 . -
THIS DRAWING IS THE PROPERTY OF AND CONTAINS INFORMATION WHICH BELONGS TO TRANSPAC MARINAS, INC. IT IS BEING LOANED WASHINGTON
WITH THE UNDERSTANDING THAT IT MAY NOT BE REPRODUCED OR USED IN_ANY WAY THAT WOULD BE_INJURIOUS TO TRANSPAC'S US.A. 98221 DRAWN BY: CHECKED BY: APPROVED BY:
7045 5529017 6,450,937 - 7,390,141 ~B.1 36,408 5,287,208 8,508,397 B, 517420 8506708 oo o0 [360) 293-8888 AJD AJD DJJ




Not For Distribution

DRAWING

28-0"

™,
\ HSS6x3x1/4

FRP GRATED DECKING
1 1/2" THK W/ 3/4x3/4 GRID, ADA COMPLIANT

| < | H / 2x8 HDPE RUBSTRIP A C
PN i —_ e | — — — N
\ T f
B el
| \
\
AR S
® + | |
| |
| \
b IS I Ss A AN [
:‘q J’ H C T N — E— JLi — S - — — — - 777JL7 < — |
R | - ——
1 HSS2x2x1/4 A
E— FB 3/8x3 STIFF
/ TOP AND BOTTOM — HSS6x3xl/4
TYP
FLOAT CONNECTION PLAN
SEE SHT 12 HSS6x3x3/8
10" HEAVY GALVANIZED STEEL
DOCK CLEAT. TYP OF 8
; __ S Sac Tl ol
= L) —J J
© T D‘ 0 ”
EXPANDED POLYSTYRENE FLOAT DRUM / SIDE ELEVATION

2x8 HDPE RUB STRIP

HSS6x3x1/4

410

Y

-4

Al 0l

\

EXPANDED POLYSTYRENE / M HSS2x2x1/4 @ 48" OC

FLOAT DRUM WITH 0.5

&

POLYETHYLENE SHELL

A - A

48x96x16" FLOAT DRUM

28' FINGER FLOAT

FRP GRATED DECKING
/ 1.1/2" THK W/ 3/4x3/4 GRID, ADA
COMPLIANT

(2) 2X1 172" ACCESS HoLEs  MAIN WALK WALER

FOR CLEAT ATTACHMENT

BOLTS
{2) 3/8" SELF TAPPING BOLTS
@ 24" oC 7

TYP
7/8" A325 /

CONNECTING BOLT

3/16

DRILL & TAP 1/2" BOLTS
FOR FLOAT DRUMS

2x8 HDPE RUB STRIP

HSS6x3x1/4

1x6 RUBBER
HSS6x3x3/8

HSS6x2x1/4

NOTES:

COATING: HOT DIP GALVANIZE AFTER FABRICATION
IN ACCORDANCE WITH ASTM A 123 AND ASTM A 152.
TO A MINIMUM OF 2.0 0Z./SQFT

DEAD LOAD FREEBOARD: 18" +/-
LIVE LOAD FREEBOARD: 2" AT 25 PSF

MATERIALS:

SHAPES AND PLATES -~ A6

HSS - A500B

BOLTS - A325, A307

HDPE PIPE: GRADE 4710 [PE3408} PER ASTM 03350,
SDR 32.5.

FLOTATION FOAM: VACUUM-MOLDED, RIGID CELLULAR
EXPANDED POLYSTYRENE, 1.0 LB/CF

FLOAT DRUM: ROTATIONALLY-MOLDED
POLYETHYLENE, WITH MINIMUM WALL THICKNESS OF
0.15". FOAM CORE IS CELLULAR POLYSTYRENE 1.0
LB PER CF PER ASTM C-578-85

FRP GRATED DECKING
1 1/2" THK W/ 3/4x3/4 GRID, ADA
COMPLIANT

18" DIA HDPE PIPE /

GROUNDING FLOAT,
FOAM FILLED

E

~OR SUBMITTAL 6/235/2022

REV | BY | DATE DESCRIPTION

INTERESTS.

THIS DRAWING IS THE PROPERTY OF AND CONTAINS INFORMATION WHICH BELONGS TO TRANSPAC MARINAS, INC.
WITH THE UNDERSTANDING THAT IT MAY NOT BE REPRODUCED OR USED IN ANY WAY THAT WOULD BE INJURIOUS TO TRANSPAC'S

DETAILS MAY BE PROTECTED UNDER ONE OR MORE OF THE FOLLOWING U.S. PATENTS: 4,709,647 —4,887,654 —4,940,021
—5,347,948 —5,529,012 —6,450,737 —7,390,141 —8,136,468 —8,287,208 —8,308,397 —8,317,429 —8,506,205

IT IS BEING LOANED

p (360) 770-1746
f(360) 766-6013
allen@ajdengineering.com

RANSPAC

M ARINAS

CHELAN BAY
COMMERCIAL DOCK, CHELAN, WA

4'x28' FINGER FLOAT
DETAIL

P.0. BOX 1169 DATE: JOB NO. SHEET. OF  |REVISED:
ANACORTES A -
WASHINGTON JUNE 2022 2236 10
USA. 98221 DRAWN BY: CHECKED BY: APPROVED BY:
|260) 292-8888 AJD AJD DJJ



FRP GRATING

< e —— 7 1000 SERIES PLYLON
\ g aauntnni] O TYP OF 2 PER HINGE
o o °0 0
! ” \I (2) L4x4x3/8
FB 3/8x2 1/2
COVER PLATE
- (4) 3/4" A325 BOLTS h TYP 4 PER HINGE
® | |
k4 A [ |y | [
{ —fc 3 =
| — = =
A . | 1 PIPE INSERT
e o] _ ©
—}{7C::::::::if‘ ] R Q@ | | | 3/4" A325 HEX BOLT
1 = B | + . \ TYP OF 6 PER SIDE
3/41 A307 BOLT | | N n ] |
|5 i A i | st 2 1 4= Do o=
a J xdx1/4 N
+ & | = | ORCA HINGE ] CROSS MEMBER o |
N | SEE DETAIL HSS4x2x1/4 | ‘/‘ | TYP | |
\ \ / GRATING SUPPORT . | . .
| | | | 2 \ ORI
r - — —— - |
A " HDPE TAB —H—— T~ = | A i e ] |
WELDED TO PIPE || | a7 < | | ’ | - }h %
A i ©dH
0 | ] E e | | || o <P 0
& | | 5/8 | | N j
| | | | L —
e loaii— \ /
o . o @™ || 1|l = Jo oo\ | 0| | 1~
1 Ne——— -~ / PLAN
3/4" A307 BOLT / PLAN FB 3/8x3 y
SECURES BOTH RUB ROLL TO PIPE OD s
STRIP AND FLOAT PIPE =~
HDPE RUB STRIP [ " '::f éﬁi’?;s
N = B —
3/4" A307 BOLT
TYP OF 4 HSS4x2x1/4 b
GRATING SUPPORT P
FRP GRATING & ‘J
FB 3/8x3 / ;
ROLL TO PIPE OD
S S = ¥ [ = L L 1
m 3/4" A325 HEX BOLT
?" - — - - \ — : - DRILL (4] 13/16" HOLES (2) Léxaxd/8 - - FB 3/8x2 1/2 TYP OF © PER SIoF
- / ( MATCH DRILL PIPE 1000 SERIES PLYLON COVER PLATE
TYP OF 2 PER HINGE " TYP 4 PER HINGE
HES12x4x1/4 1
WALER FB 5/8x5 1/2" NOTCH TO LIMIT
REQUIRED WELDING 121 HEX BOLT

ELEVATION TYP OF 34 PER HINGE

Not For Distribution

DRAWING

/
| ORCA HINGE A \_/\ ROLL TO PIPE OD
o o J o
%“OJIA;I'DIEIELLFEISEWSI,'IQE 228 »‘ ‘« - 956 TYP TO WALER ORCA HINGE DETAIL
1/2" FUSED END CAPS EégA;-HSWES . *‘j’tu
4]
TYPICAL MAINWALK/ATTENUATOR FLOAT FOR SUBMITTAL 6/235/2022

CONNECTION REv | BY | bATE DESCRIPTION CHELAN BAY
COMMERCIAL DOCK, CHELAN, WA
B A ASbA| ORCA CONNECTION
£(360) 766-6013 | ER/ARNJIZAR, D ETAI |_
allen@ajdengineeringcom |[M A R I N A S
P.0. BOX 1169 DATE: JOB NO. SHEET. OF  |REVISED:
ANACORTES JUNE 2022 2236 1 . -
THIS DRAWING IS THE PROPERTY OF AND CONTAINS INFORMATION WHICH BELONGS TO TRANSPAC MARINAS, INC. IT IS BEING LOANED WASHINGTON
WITH THE UNDERSTANDING THAT IT MAY NOT BE REPRODUCED OR USED IN_ANY WAY THAT WOULD BE_INJURIOUS TO TRANSPAC'S US.A. 98221 DRAWN BY: CHECKED BY: APPROVED BY:
7045 5529017 6,450,937 - 7,390,141 ~B.1 36,408 5,287,208 8,508,397 B, 517420 8506708 oo o0 [360) 293-8888 AJD AJD DJJ




Not For Distribution

DRAWING

DECKING NOT
/ SHOWN
©

FINGER FLOAT

A
\ HSS8x3x1/4

Li@%
RUBBER BUSHING

7/8" A449 BOLT

TYP OF 2 EA SIDE
ALIGN FLOAT WITH

[ 7

CONNECTION BOLTS

HSS6x3x3/8 /

111" HOLE
TYP

[1m1]

agl

B

SLIDE BOLT THROUGH HOLES
IN END WELDMENT

INSTALL HARDWARE.

[CUT WASHER, HEAVY HEX NUT,
& JAM HEX NUT)

SEE SHT 11

SPACING BETWEEN
ADJOINING FLOATS

DECKING NOT
SHOWN

ORCA CONNECTION

\ HSS8x4x1/4

ORCA CONNECTION
SEE SHT 1

EXPLODED FLOAT

CONNECTION

TYPICAL FINGER TO MAIN WALK

CONNECTED
ELOATS

&

HSS6x3x3/8

3 1/2" sCH 40 PIPE

PL 3/8x3 1/2" DIA REPAD. WELD

TO OUTSIDE OF PIPE PRIOR TO
INSTALL. PLUG WELD TO HSS

UPON INSTALL

[

GANGWAY FLOAT

HSS6x6x2/8 \

1x6 CONTINUOUS
RUBBER BUSHING

B -B

B

| | =

4/®
DECKING NOT

SHOWN

/ MAINWALK

I

/1“ 40 DURO RUBBER

A

~

P _TPL
8!
a 1-g!

GANGWAY
FLOAT

HSS6x6x3/8

_

L 7/8" A449 BOLT

-

1100l 0l 0l

MAINWALK

|

3 1/2" SCH 40 PIPE
SIMILAR TO FINGER
FLOAT CONNECTION

THIS DRAWING IS THE PROPERTY OF AND CONTAINS INFORMATION WHICH BELONGS TO TRANSPAC MARINAS, INC. IT IS BEING LOANED
WITH THE UNDERSTANDING THAT IT MAY NOT BE REPRODUCED OR USED IN ANY WAY THAT WOULD BE INJURIOUS TO TRANSPAC'S
INTERESTS. DETAILS MAY BE PROTECTED UNDER ONE OR MORE OF THE FOLLOWING U.S. PATENTS: 4,709,647 —4,887,654 —4,940,021
—5,347,948 —5,529,012 —6,450,737 —7,390,141 —8,136,468 —8,287,208 —8,308,397 —8,317,429 —8,506,205

f(360) 766-6013
allen@ajdengineering.com

CONNECTION TYPICAL MAINWALK TO MAINWALK TYPICAL MAINWALK TO GANGWAY
CONNECTION CONNECTION
FOR SUBMITTAL 6/235/2022
REV | BY | DATE DESCRIPTION

CHELAN BAY

COMMERCIAL DOCK, CHELAN, WA
MAINWALK CONNECTION

— L 3
M A RINAS
P.0. BOX 1169 DATE: JOB NO. SHEET: OF  |REVISED:
ANACORTES A -
WASHINGTON JUNE 2022 2236 12
USA. 98221 DRAWN BY: CHECKED BY: APPROVED BY:
|260) 292-8888 AJD AJD DJJ



J

10 172"

FB 3/8x4
J\ 2" SCH 40 STEEL PIPE
\ WT4x14

3/4" A325 BOLT
TYP OF 4

2I_0Il ‘
DRILL FOR 3/4" BOLT
TYP 2 EA SIDE /QW@YP | \ SEAL
| -
A f‘—ﬁj‘: & 7P
|
A N I | | 3/8" CSK BOLTS
\
\
L
\ E] \
PL 3/8 s & | \
(2] N -
o & | |
A | 3/4x4 UHMW RUB
\
\
\ FB 3/8x6 \ |
1| ‘
‘ o [ 3/4x6 UHMW-PE | J—ﬂ% -
[
\
\
\

{

3/8" CSK BOLT
TYP OF 16

\

PLAN PLAN

UHMW CLOSURE RING FB 3/8x4 WT4x14
ATTACH W/ CSK 3/8" BOLTS O/\ / [
| ! . 3/8" CSK BOLTS
A4

\ \ g 0 o o | o 5 5 ©
FB 3/8x8 e~~~ T _ ‘ NI\ S \— A L ‘
| | ——— = 1™ 5 (= )
- - e =) e P
77777777 T fi— \ ! Pany _ | o Py
) E—— 9% l QO

I
= 2" SCH 40 STEEL PIPE
2" SCH 40 STEEL PIPE
3/41 A325 BOLT
TYP OF 4

| |
I I
\ \
\ \
\ \
——— = — — — —
3/8" CSK BOLT g @\/\ E\ R
TYP OF 16 3/41 A325 BOLT

Not For Distribution

DRAWING

FB 3/8x8
WT4x14
TYP OF 4
B o/8x SIDE ELEVATION FRONT ELEVATION
FRONT ELEVATION
12" EXTERNAL PILE HOOP DETAIL
INTERNAL 12" PILE HOOP
REV | BY | DATE DESCRIPTION CH E I_.AN BAY
COMMERCIAL DOCK, CHELAN, WA
© e | TRANSPAC PLLE HOOF
allen(cézgidenginéerin;;com M A RINAS D E TAI I_. S
P.0. BOX 1169 DATE: JOB NO. SHEET. OF  |REVISED:
ANACORTES JUNE 2022 2236 13 . -
THIS DRAWING IS THE PROPERTY OF AND CONTAINS INFORMATION WHICH BELONGS TO TRANSPAC MARINAS, INC. IT IS BEING LOANED WASHINGTON
WITH THE UNDERSTANDING THAT IT MAY NOT BE REPRODUCED OR USED IN_ANY WAY THAT WOULD BE_INJURIOUS TO TRANSPAC'S US.A. 98221 DRAWN BY: CHECKED BY: APPROVED BY:
7045 5529017 6,450,937 - 7,390,141 ~B.1 36,408 5,287,208 8,508,397 B, 517420 8506708 oo o0 [360) 293-8888 AJD AJD DJJ




8-0" MAX 8-0" MAX

P N

(=
|
|
|
|
+
|
|
fﬁ
|
B
=

] i ervirs
TRANSITION _ | Zi7anN\ies M
: \
\ | | L Ly

i)

_ — ="

3/4" EPOXY ANCHOR

TYP OF 2

\PL 1/2x10"x12"

gl-of

7/8"x3" SLOTTED HOLE
— FOR 3/4" BOLT
/6" UHMW-PE
o]

HSS8x8x3/8 — ||

| M PL 3/8/
‘ HSS4x2x1/4 / STIFFENER
HSS6x3x1/4

2!-9N

5N ‘

’ 6"

—— |—— !

= ] - |
1 NI R / 7 12
s HES12x4x1/4 / - =
5'-4 STRINGER HSS2 1/2x2 1/2x1/4 10"
PROVIDED BY GANGWAY
 DnShNeya BLAN FIXED PIER BRACKET
34!
| » —
— 2 -—
[ M TIMBER RAILING
(! |
5'x60' GANGWAY FB 3/8x4 TOE KICK PL sns;apggrg ss0 C:I;Blag
‘ CONC HEADWALL
1.Qi
r \ ] e ~ || SEE SHT 15 BENT PL 3/16x2 - 8-0 —

W/ (2) 3/8" BOLTS 71-g1

N E— SUPPORT AT —~ -
— IDPOINT BTWN POSTS - ———————2%6 TIMBER HANDRAIL ‘
SEE SHT 16 —= HSS2 11262 1/2x1/4 {/zxe SUPPORT RAIL [
X N 7 g N g oy EL +1102+/- E— PIER END RAILING | |
] e i *j/ F IR 4‘1 777777 / SEE SHT 16 ‘ ‘
1 = ‘ ‘
HIGH WATER=1100 W t WIRE ROPE INFILL
— - . FRP GRATED DECKING e 4 06 \ | HSS12xdxl/4
- END CROSS MEMBER
HSS8x8x3/8 HSS12x4x1/4 FIXED PIER BRACKET ‘ S54x2x1/4 ‘ ‘
CAP BEAM STRINGER SEE DETALL | RARSITION HES4x2xl/ ! SANGWAT LU
5I_o|l
- SUPPLIED BY
PL 3/4x 16" DIA FB 3/8x4 TOE KICK ‘ CABLE TRAY | G%NGW% -
W/ [2) 1/2" BOLTS K
o}

1/2" BOLT

T — -
o]
TYP TOP — N S
AND BOTTOM i 1 1/21 FRP
12" DIA STEEL PIPE PILE HSS12x4x1/4 - SELSEL———————————————————-————-——————. GRATED DECKING

MIN 20' EMBED

EXISTING SHORELINE \ ~
ITI
CONDITION TO HSS8x8x3/8 CAP BEAM PL 3/4x16" OD

REMAIN UNDISTURBED
PIER ELEVATION
AT OFF SHORE END

Not For Distribution

DRAWING

Rev | BY | DATE DESCRIPTION CHELAN BAY
COMMERCIAL DOCK, CHELAN, WA
SIDE ELEVATION FIXED PIER
s
) FIXED PIER raomoie | TRANSIAG DETAILS
allen@ajdengineeringcom [M- A R I N A S
P.0. BOX 1169 DATE: JOB NO. SHEET: OF  |REVISED:
ANACORTES JUNE 2022 2236 14 * -
THIS DRAWING IS THE PROPERTY OF AND CONTAINS INFORMATION WHICH BELONGS TO TRANSPAC MARINAS, INC. IT IS BEING LOANED WASHINGTON
WITH THE UNDERSTANDING THAT IT MAY NOT BE REPRODUCED OR USED IN ANY WAY THAT WOULD BE_INVURIOUS TO TRANSfAc’S US.A, 98221 DRAWN BY: CHECKED BY: APPROVED BY:
7,008 U5.525,012 L6450.757 7,390,141 ~B136,465 5,287,208 E308.397 5517420 506,208 T o0 [360) 293-8888 AJD AJD DJJ




\ LOCATION OF

FP2 ON PILE SCHEDULE

9l-o
718

LOCATION OF
FP1 ON PILE SCHEDULE

FIXED PIER PLAN
SUPPORT BRACKET an
——— (————
- 4.Il
- EL 102 +/-
FIXED PIER A
SUPPORT BRACKET

CONCRETE F'c = 3,000 PSI

Not For Distribution

DRAWING

SR ) REINFORCING Fy = 60,000 PSI
©
3/4" EPOXY ANCHOR
TYP OF 2 l\gIENR GBIIREthE'Iq N #5 @ 12" OC EW
1/ Y
7Y
P RN ERIVRRY AR |
‘ 5
? o ~
55 o or | [
! J
o FOR SUBMITTAL ©/235/2022
O
— e - REV | BY | DATE DESCRIPTION

CHELAN BAY
COMMERCIAL DOCK, CHELAN, WA

FIXED PIER ABUTMENT

TYPICAL SECTION

@ FIXED PIER ABUTMENT

= s
f(360) 766-6013 E E%ﬁ%ﬁsg %Ei [ 4
allen@ajdengineering.com M A R I N A S

P.0. BOX 1169 DATE: JOB NO. SHEET. OF  |REVISED:
ANACORTES JUNE 2022 2236 15 . -
THIS DRAWING IS THE PROPERTY OF AND CONTAINS INFORMATION WHICH BELONGS TO TRANSPAC MARINAS, INC. IT IS BEING LOANED WASHINGTON
WITH THE UNDERSTANDING THAT IT MAY NOT BE REPRODUCED OR USED IN ANY WAY THAT WOULD BE INJURIOUS TO TRANSPAC'S US.A. 98221 DRAWN BY: CHECKED BY: APPROVED BY:

INTERESTS. DETAILS MAY BE PROTECTED UNDER ONE OR MORE OF THE FOLLOWING U.S. PATENTS: 4,709,647 —4,887,654 —4,940,021

—5,347,948 —5,529,012 —6,450,737 —7,390,141 —8,136,468 —8,287,208 —8,308,397 —8,317,429 —8,506,205 [360) 293-8888 AJD AJD DJJ




Not For Distribution

DRAWING

172" BOLT
TYP OF 2\
]
/ 3\1/;' CS’-’FTE‘R” PIN UHMW-PE NOSING

I
|
I
|
qd—
|
[ —
|
4= =i
FIXED PIER [
(1
[ ;
o - 3
- | ~ ~
172" SS BOLT/] Ttﬁ:
@ 12" OC
d— =
- |
° (
2 |
4= =l
|
(| I
A I
4= =i
|
e =
1as i |

e
lur \
3/8" PL TRANSITION

3/41" STD ALUM PIPE

DRILL HOLE IN PLAN x 5 7/8" LONG PIPE

OUTER PL /8 WELD ONE TO ONE PL 3/8
FOR BOLT HEAD CLEARANCE WELD ONE TO TRANSITION PL

PL 3/8x2'-0"

/UHMW NOSING

ALUM PL 3/8x6x4 GUSSET

1-11 174"

‘ 1-0M

3/4" ALUM PIPE - =

(TP EVERY
OTHER PIPE
e vTiZan A
3/16

?2 xr
w 4ﬂ:;
% 3/8x4x6 GUSSET
@ 12" oC
PL 3/8x4 DRILL HOLE TO CLEAR

BOLT HEAD
3740 PL 3/8x4

1/4" CSK BOLT @ 6" OC
D&T 3/8" PLATE

UHMW-PE
NOSING

TRANSITION RAMP ENLARGED SECTION

HSS2x1.5x3/16

DRILL HOLE IN FAR SIDE
FOR NUT AND SOCKET ACCESsS

WIRE ROPE INFILL
49 \

3/8" KEEPER BOLT

BLOCKS LOWER PART OF
OPENING WHEN IT IS
STOWED

TRANSITION RAMP 2" DEEP POCKET

FOR Hss2x1

WVL

ELEVATION
PIER END RAILING

~OR SUBMITTAL 6/235/2022

@ 12" oC
ALUM PL 3/8x4 REV | BY | DATE DESCRIPTION CHELAN BAY
1/2" S BOLT
@ 12! oC COMMERCIAL DOCK, CHELAN, WA
- ELEVATION TRANSPAC FIXED PIER
LY [ 4
f(360) 766-6013
TRANSITION RAMP allen@ajdengineering.com | M A R INAZS TRANSITION RAMP
P.0. BOX 1169 DATE: JOB NO. SHEET. OF  |REVISED:
ANACORTES JUNE 2022 2236 16 . -
THIS DRAWING IS THE PROPERTY OF AND CONTAINS INFORMATION WHICH BELONGS TO TRANSPAC MARINAS, INC. IT IS BEING LOANED WASHINGTON
WITH THE UNDERSTANDING THAT IT MAY NOT BE REPRODUCED OR USED IN ANY WAY THAT WOULD BE_INVURIOUS TO TRANSfAc’S US.A, 98221 DRAWN BY: CHECKED BY: APPROVED BY:
7045 5529017 6,450,937 - 7,390,141 ~B.1 36,408 5,287,208 8,508,397 B, 517420 8506708 oo o0 [360) 293-8888 AJD AJD DJJ



Not For Distribution

DRAWING

PILE/ABUTMENT SCHEDULE N
EL = +1106.0. ﬁ FLOAT PILE PILE
CUTOFF EL. 0 DIAMETER | Py LENGTH EMBEDMENT  |NORTHING EASTING
'"GUIDE PILE" FP 1 - - - - 305,576.26| 1,825,029.13
FP 2 - - - - 305,567.31 | 1,8%5,028.19
P1 12"x3/8"w|35KS1 | 32 20' 305,572.51 | 1,835,067.90
P2 12'1x3/8"w|35KSI | 32 20' 305,564.96| 1,835,067.10
P3 12x3/8" | 35KSI | 38! 20' 305,534.44| 1,835,073.68
P4 12'x3/8w|35KS1 | 38! 20' 305,554.65| 1,835,080.68
P5 12"x3/8"w|35KSI | 42' 20' 305,583.49| 1,835,083.72
P12 P6 12x3/8"w| 35KS1 | 44/ 20' 305,612.3% | 1,835,086.77
P7 121x3/8"w|35KSI | 44 20' 305,64117 | 1,855,089.81
12" DIAx 3/8" WALL [ " | !
OALVANIZED PIPE PILE P8 121x3/8y| 35KS] | 46 20 305,660.26/ 1,835,095.51
P9 12"x3/8"w| 50KS1 | 46’ 20' 305,657.6%| 1,835,120.37
P10 121x3/8"w| 35KS1 | 46' 20' 305,655.79| 1,835,137.86
v P11 121x3/8"w| 35KS1 | 46' 20' 305,653.69| 1,835,157.75
HIGH LAKE LEVEL = +1100.0 — P12 12x3/8"w| 35KS1 | 46! 20 305,651.59 | 1,835,177.64
P1 1) ASSUMES A WATER ELEVATION OF EL. 1095,
MAX WATER LEVEL DURING THE WINTER SEASON
| AND FULL POOL OF EL. 1100 DURING THE
OU MAY-SEPTEMBER SUMMER SEASON.
2) PILE CUTOFF EL = 1106, BASED ON MAX WATER
“ EL OF 1100.
P2
FP2
EXISTING MUDLINE
EL 1082 TO 1090 +/- ‘
‘ \-_-—_\/
a INSIDE OPEN
0 CUTTING SHOE
= -
il O\J
~
< |
@
A
* FLOAT NOT SHOWN FOR CLARITY
REV | BY | DATE DESCRIPTION CH EI—AN BAY
Saee—— COMMERCIAL DOCK, CHELAN, WA
O (360) 770-1746 EE %§?§E 2{5 PI L E D E TA I L 8
P -
£(360) 766-6013 CAARNJEZAR.
allen@ajdengineeringcom |[M A R I N A S
P.0. BOX 1169 DATE: JOB NO. SHEET: OF  |REVISED:
ANACORTES JUNE 2022 2236 17 . -
THIS DRAWING IS THE PROPERTY OF AND CONTAINS INFORMATION WHICH BELONGS TO TRANSPAC MARINAS, INC. IT IS BEING LOANED WASHINGTON
WITH THE UNDERSTANDING THAT IT MAY NOT BE REPRODUCED OR USED IN ANY WAY THAT WOULD BE INWURIOUS TO TRANSPAC'S US.A. 98221 DRAWN BY: CHECKED BY: APPROVED BY:
7,008 U5.525,012 L6450.757 7,390,141 ~B136,465 5,287,208 E308.397 5517420 506,208 T o0 [360) 293-8888 AJD AJD DJJ




